Supplementary Material
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Supplementary figure S1. Correlation between control group children's (CZS-) cell populations and their
mothers. (A) Correlation between T cells of children and their mothers of the CZS— group. (B) Correlation
between B cells of children and their mothers of the CZS— group. Each point represents a pair of mother and
child, and the line represents the direction of the correlation. Pearson's two-tailed test was used to build the
correlations, p <0.05, n = 30.
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Supplementary figure S2. Correlation between control group (CZS-) children's T lymphocyte subpopulations
and their mothers. (A) Correlation between CD3+/CD4+ T cells of children and their mothers of the CZS—
group. (B) Correlation between CD3+/CD8+ T cells of children and their mothers of the CZS— group. Each
point represents a pair of mother and child, and the line represents the direction of the correlation. Pearson's
two-tailed test was used to build the correlations, p <0.05, N = 30.



